11
3% 52

@ n

63
22x3x7

@ 1.415



e § x = 1.273 & 252 Yetdle 3olA 2o s Alt2?

o

@ 1000x — x @ 1000x — 10x ® 100x — 10x

@ 10000x — 100x ® 10000x — 10x



Uha T e84 £do] 2 A

o

nE m2w? (Y 27)

D 0.123123--- = 0.123 @ 23.2626--- = 23.26
® 3.14151415--- = 3.14151 @ 0.2343434--- = 0.234

® 3.3571571--- = 3.3571



o= 27x6yD + xy% = 27x5y3 9] I:]

4.

StH?

;L

@ 8 ® 9 @ 10 ®1n

ON



5.

(@*h*)3 + @b® = d"b® A W, x+y o] Gk2?

@ 2 @ 3 ® 4 @ 5



A (@® - 2a+4) + (32 + 5a — 1) = 7rks] 5}@?

® a®>+5a-1 @ a®>+3a+4 ® 3a>+3a+3

@ 44 +3a+3 ® 4a® —3a—1



o|J

Al

erd 4 9l

AT 2

109 A

=
=

< = Y
T o5l

pid
ojn

[a\ N Kae






FXa, b HotA #, « Saftb=a+b-ab,axb=ala+b) =
BOStAL a = —x, b= x—4y & W, (a#b) + (axb) T x, y ol T3
Hoz eppa?

D x%2-y @ x%2-4 ® 2x%2 -y

@ 2x% -2y ® x? -4y



10, A=x>-2x+5B=2x2+x-3 ¥ 1, 5A-(2A +B) E x

408 YERfH?

@ 2x2-5x+8
® x> +6x+9

® x2-7x+18

@ -3x2-Tx-5

@ —x>+10x-22

—
-

5



11.

o= 542 W5tz a, b ol 5t 2a-3b o] g27 (T, n 2

2% 42+ 8 =925
(12 x (<143 = b

@ 11 @ -11

® -5




12, 2100 = g9 W], 450 - 499G o] PF A0 2 e ?



13. T34 A, Bol| Histo] AxB = A-3B 2t Ho] 51AF A = x24-2x—4
,B=x

= x> - 3x +5 o 5l (A« B) « B & 7F3] 519

@O -5x2-20x-22 @ —5x2+20x-34
® 2x2-x+1 @ 2x2+5x+9

® 5x2+22x-4



14.

@ xX+y



15.

15
13

@
@

—xoh @ o (10° - 1) © FHe F A A

42te] @ 574 ® 642
72+ ® 8z



